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Problem quickname: 8100

1)

Calculate the result.

a) 0.27 +9 b) 0.88 =+ 5.5 c) 0.84 -84 d) 0.53 + 5.3

e) 0.27 +6.75 f) 0.89 + 1.78 g) 0.36 =9 h) 0.33 + 5.5

i) 0.44 +4 j) 0.75 +6.25

2)

Calculate the result.

a) 487.8 + 3.75 b) 112.7 + 9.8 c) 261.3 = 5.36 d) 603.9 = 6.1

e) 424.5 = 3.75 £) 733.2 = 7.05 g) 696.9 + 6.9 h) 711.5 + 5
i) 565.2 + 9.42 i) 156.6 + 9

3)

Calculate the result.

a) 664.2 + 32.4 b) 431.2 + 53.9 ¢) 500.5 = 28.6 d) 323.3 + 53
e) 212.8 = 70 £) 771.2 = 96.4 g) 275.4 =+ 61.2 L) 881.5 + 10
i) 579.7 + 93.5 i) 543.9 = 30

4)

Calculate the result.

a) 8.262 = 413.1 b) 4.879 + 487.9 c) 6.794 + 169.85
d) 5.796 =+ 289.8 e) 2.557 + 255.7 f) 6.518 + 130.36
g) 5.634 <+ 563.4 h) 1.225 +122.5 i) 7.892 = 789.2
j) 5.217 + 260.85

Good Luck!
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